Y12 : PRACTICE ASSESSMENTB. ACHIEVEMENT LEVEL ONLY.

Algebra.
1. Expand: _ |
(@) 5x—4)° = (9(&&)(?‘2“-4)
= Z§7(’L-~i(20 Vdan ( é)
(b)( ix:f)(?CH)(x—S) i)
(¢ uzx—’gj’h?)( —+7. x =+ 30
= X — 4x" — llx + 20
2. Simplify fully:
b
@l = ScC

T 7 g
)
(b) 274°pH" = (3‘1 ‘”) = e b

3. Combine into one

log function: 2 _ 4 L"
Jloga— 2logh = '675& !;
= 2 S
4. Simplify fully: /&?S (‘91
)3 2 (xet)
() €+2)  (x+3) Gty
= g > *-R-Ci — I '_“_\)Lf’
. (‘.} T} )( 2 7
= ‘/‘ij’___’_—_
¢ X = ;)()( ~ 2 )
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Calculus.
1. Find the gradient
of y=x" atx =2
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2. Find t_he2x value of the point on the y e 2+2 = ¥
curvey =x" +2x C
where the gradient equals 8. Py =
e = 3%
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5. Find the equation of the curve given
that f'(x) = 12x° — 2 and the point (3, 4)
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